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QUESTION 1

Which twoPasswordManagement options are available forpasswordsthat are locallymanage medwithin VMware SDDC
Manager? (Choose two.) 

A. Reset 

B. Update 

C. Rotate 

D. Change 

E. Replace 

Correct Answer: BC 

 

QUESTION 2

Which role is required to edit backup configuration in SDDC Manager? 

A. SUPER ADMIN 

B. POWER USER 

C. ADMIN 

D. OPERATOR 

Correct Answer: A 

 

QUESTION 3

An administrator is tasked with creating a federation between five VMware Cloud Foundation instances. What is the
number of SDDC Manager instances that must be assigned the controller role to enable HA? 

A. 5 

B. 1 

C. 3 

D. 2 

Correct Answer: C 

 

QUESTION 4

An architect designs a VMware Cloud Foundation which includes three workload domains in addition to the
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management domain Each workload domain is comprised of two Clusters with 19 hosts in each. There is a requirement
to keep the NSX-T Manager instances to a minimum for ease of management. 

Which NSX-T Manager VM appliance sizing option should the architect choose to support the workload domains using
the minimum number of NSX-T Manager clusters? 

A. Deploy one NSX-T Manager cluster using the large VM appliance size to support all three workload domains. 

B. Deploy three NSX-T Manager clusters using the medium VM appliance size and assign one NSX-T Manager cluster
per workload domain. 

C. Deploy one NSX-T Manager cluster using the medium VM appliance size to support all three workload domains. 

D. Deploy three NSX-T Manager clusters using the large VM appliance size and assign one NSX-T Manager cluster per
workload domain. 

Correct Answer: A 

 

QUESTION 5

While assessing an environment for VMware Cloud Foundation, it was relayed that the enterprise is expanding their
global presence with multiple data centers in order to simplify their IT operations without increasing their IT staff 

How can this goal be achieved? 

A. SDDC Manager Cluster 

B. Leverage L2 VPN 

C. Centrally via 1 LCM Deployment 

D. Multi-Instance Federation 

Correct Answer: C 
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